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S, >S, && s,>s - do shift
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» stack =[ (0, “ROOT", “ROOT") ]
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Shift-Reduce 77JL 3 X A

SHIFTREDUCE(queue)

make list heads
stack = [ (0, “ROQOT", “ROOT") ]
while |queue| > 0 or |stack]| > 1:

feats = MAKEFEATs(Stack, queue)

S, =W * feats #hift" A7)
S =W * feats # “reduce left" ® A3
s =w *feats # “reduce right” M A1)

Ifs >=s and s_>=s and |queue| > O:
stack.push( queue.popleft() ) # shift &= £1T

elifs >= s # reduce £ = £17
heads| stack[-2].id | = stack[-1].id
stack.remove(-2)

else: # reduce A %= 217
heads| stack[-1].id | = stack[-2].id 15

stack.remove(-1)
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o BRNTAZITLN, IEff corr DD 3EZDEREYE ans EEL3S
B/T Ea 7+ 75: ER %ﬁ-

e 5 : if ans = SHIFT and corr = LEFT

w_-= @(queue,stack)

w, += @(queue,stack)
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[IEfE] DEFTE (1)

« REEDH head ZHID TWBES. UHZT :

stack[-1].head == stack[-2].id (EDNEDHR)
- corr = RIGHT

stack[-2].head == stack[-1].id (B EDIR)
- corr = LEFT

else
— corr = SHIFT

» [BIRE : reduce A% R T X HEX[ETEIT |

e stack[-2] stack[-1] queuel0]
Y go to school

school head: O T 1 2
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[Ef%] DFE (2)

o ZEHFEDRUNIEDFHDE unproc =#&E :

stack[-1].head == stack[-2].id (ADEDIR)
stack[-1].unproc == (ZEICKRMIBDFHA L)
- corr = RIGHT

stack[-2].head == stack[-1].id  (EHBEDE)
stack[-2].unproc == (BICKULEDFHEA L)
- corr = LEFT

else
— corr = SHIFT

o REFEAAHLEH SIC unproc DFNHAE % 5TE
reduce %17 7= unproc ™5 1 %= 5| < 18
corr == RIGHT - stack[-1].unproc -=1
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Shift-Reduce DFE 7))L 3Y X A

SHIFTREDUCETRAIN(QuUeue)

make list heads
stack = [ (0, “ROQOT", “ROOT") ]
while |queue| > 0 or |stack]| > 1:

feats = MAKEFEATs(Stack, queue)

calculate ans # SHIFTREDUCE & [A#k
calculate corr # BIDRZ A4 K E&ERk
If ans = corr:

w -= feats

ans

w += feats

corr

perform action according to corr
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ID 258 [ER W& mea2 ek R AN
2

1 ms. ms. NNP NNP B DEP

2 haag haag NNP NNP 3 NP-SBJ
3 plays plays VBZ VBZ B 0 ROOT
4 eliantt elilantt  NNP NNP 3 NP-OBJ
5 . 3 DEP
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4 train-sr.py test-sr.py

2 data/mstparser-en-train.dep
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« 21T data/mstparser-en-test.dep
- Fl FBEZHIS
script/grade-dep.py
s FyY LY
« RMDILE
« HAEBTILI)XLDOBE
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Thank You!
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